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BEREIMERIN0LFEEHNELENS 0 HIREL ANANSEL R L aREH A

~CERB ()30 B o HRAFE 1 BRELI0M FM2 5 0604
(=) AL HF R 5 » B4R -
(Z) $BERBSEU 2B ESENERERN - L et A

KB S = x=2]+[x+5| R EBAT?

(A) =5 (B)O ©)2 D)7
ZREHY=F()NHBEHooEE > RERER f(x) <08 BT ?
(A) x<3 B) I<x<3
C) x<lzxx=3 (D) x<342x=1

1 3 -
€ 4o i(ak +2)=100,E_i2ak =100 > ‘a‘i‘(‘,;ﬁiak ==
(A) 90 “B 50 = (C) 140 (D) 200
HAETI:ERY  EHRKME -
(A) sinl10° (B) sin120° (C) sin130° (D) sin140°

#23,57,11,13,17,19 i 8 A3 P - EE A% a, AT Bou D B A ey A K18
a a
(A) 14 (B) 28 () 56 (D) 256

M~ o0~ F - BREwRRLEESAE T - Q K- AmRELA - 540t 16 TR MKIS 1 7k > B%
HAHMB SO EN A RBHBE AES  KRBEPHUA) -
9

1 1 7
(A) 6 (B) 7 © 6 (D) 6

MEEM A SR B AR B SEMGE W TEAT o KETFH—EBT AL C oA B agrabihi?

R A

r =0.9855 r=0.7465
(A) —-0.2261 (B) 0.4267 (C) 0.8997 (D) 1.3215
%G BAABCHE s » AB=2 1 AC=3 > BC=4 » Rk AG £ & -
10 10 2410
(A) 10 @ YO0 © Y @ 20
2 3 3
Jx—2y—3z:ll 1 -2 =3 11
FRRE2x—-y+4z=18FBERFEFZTHFI0 3 10 4| KR HZRANBAMT?
lax+by+cz:7 0 0 1 2
A) (1,-8, 2) (B) (-1, 8,-2) C) &M% (D) w2

TH BB BAEARI+Yy=SFHHERAHN?
(A) x+4y=9 B) x—4y=-7 (C) 4x+y=6 (D) 4x—y=2
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21.

EHH ABCD thiE % 6 E4£BC + » B BE:EC=2:1 F 2CD 2 » 8| BF-DE = 9
(A) —30 (B) 30 () -6 (D) 6

WwFwmE i 3x+4y—5z=2" E,:d4x-y+z=28Mm&@ [0 > RF|cosf|= ?

1 13
(A) — B) 5

3 3
0 ©5a ™ 35

DA ZEREFHAEORRLARR—FHEN R 100 B4 BRERABBELR;T A5 P PRz
% 99.98% - RN REFBAZHEMEA 100 T ANABGRZFZRE DA

(A) 100 (B) 200 (C) 300 (D) 400
T AR HITERA ?

SN2 + 243 3V2 +44/3 442 +33 242 + 543
(A) —I; 0 ®) ——J—; ¥3 © —I; = (D) ——J_; £

B4 BRSO BRUA(x-2 XA x+2 » KA (X)) B x—2 t54 X BT ?
(A) x+2 (B) 0 ©) 2 (D) 4

Zy=2"01BH AL y=3 y=6XNA-B R RLAB="?

(A) (1,3) (B) (2,3) © G2 D) G.D)
ELMEMFZ AR LR 5B 1 F=5A L1 $=75] Do = 5|
B 12,10 e SER B 5] b e A7 A B BT 2 . =5
(A) 256 (B) 512 —
(C) 1024 (D) 2048 - W@ e B=5
I & 2 [ F003)

AHORBBY > EEF L~ BEZARDNBAMET  BRI— A > Tl AWM 3 AU > 2R
B EAEHIES X ?
(A)1 (B) 3! ©) C-ct-cC D) C-C°.C -3

BEF—ELOERTRR ZHHAS KE—RABEHBE?
(A) 0.4 (B) 0.5 (C) 0.6 (D) 0.7

®x, yHATH Bl +) =20 Ky+20RAM -

(A) 10 (B) 7 ©) 5 (D) -3

Azwm%d  EABRPEH S Sk @yl | AE | PFHEH(ASH)
IR E o -0 E o g% SN s A 500 161
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22. AR Fd| L > 4T A0,0) ~ B(6,0) 82 P(x,y) fﬁ%&lﬁ+§ﬁl=10 QB EE P AT AR 8 LB B S B 4T 2
A) A& (B) %8 (C) #th# (D)

23. B4al %:%:Z;ﬁuz %:%:f#ai%(o, 0,0) RAFBEEL AL MAELFRER -

A Ry — B) 8x—Tv—6z — g S LI )
(A) 7x+6y—8z=0 B) 8x—-7y—6z=0 ©) i e = (D) = B 7
1 -1[a b 3 7
2L _—u;;‘ — 5 _'%.1~‘5:% ) .5% °
24, wmAERE Z%L 2}[0 d} [_1 J REH T 5| E#£EE
(A) a=3 (B) b=3 (C) c=3 (D) d=3
25. EME B X OB ESHA B _BALIH X ~B(n,p) » LMEREX)=5 BR£c(X)=2 > 8] p A ELT?
1 2 3 4
A) — B) = C) = D) —
(A) : (B) : ©) 3 (D) 5

2600 FREATE - PHMBE - B B REBIHETON ) MAFEAX - B HP - RE TR
SR #8005 605605805 ; MBRESFNAS 55105 1045 - A/ AadsE £ L
Fl2e &R > H—FHRRART?

(A) Bt (B) #x C) ## (D) #&

27 FRELHFEL 128 AN ESH -BEIAESHA -CHIA2B - AIBMBALEHLEHE > BA
SN LALIEE CHHED 1M > AR - REBE 0 F kA 478 7
(A) 495 (B) 35 (C) 25 (D) 20

28. AwB#abc,d RFEHT E¥=Z#abdmFLET > THHRBEET A FLLE T 4 NEE?
A) 2 B) 3 <€ 4 D) 5

29. =R &AE P > 2 25(0,0,0) TEEET 5 AE T Bk ?
(A) Sx+y+z=2 B) 4x+2y+z=2 (C) 3x+3y+z=2 D) 3x+2y+2z=2

30 FAFMENNASLET - FATRTHBELT > BRERELSLTAEELE  F0%EALALLTESE
B A% GLAMTESE  AMLTAEL - F S0%eASLTEE > F S0%EAMILTESE ; KM S B
S4bHA 200 & 24 fE - LT A 100 & 24k 2 BAFATSLTHELLE?

(A) 250 (B) 200 (C) 170 (D) 167

A-Z2EEER(—) £ 108 - ARAFINMEF M HE45 - 3H40 5 -
(=) BBSMBERLZAB/L A TEDH | BRALEHEY  FHME A 540 5 EERS
HEHFZMLFI IO RE 1 BERTRA - F o S 2E8R 2ARELERRLEY -
(Z) FHEABZEU2BH/ETENEEER -

3. FHLATIERTY  ELMMWBRIEXT
(A) 2x* +y* —4x+2y—-1=0 (B) 2x*+y* —4x+2y=0 ©) 2x*+y*+2y—-1=0
(D) 2x* —4x+2y—-1=0 (B) »*—4x+2y-1=0

32. KB B —EELNH > FTHMLEARAEHLDE BEH M%7
(A) BH (B) FC (C) EG (D) 4B (E) CE

33. B BB F(x)=—-2x> +4x -3 694l o iR EALEIE o 4
AFEAEA-S BARFEmPME OBEHELEALAx=] DEHExHTHE EFf)EE
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TR EZEHx—2y=4>3x—y=1> 2x+3y=5EAR=
AT dktB > CioBi(a,D) E=ZAMAI - B TFTHALL
7

(A) a-2b<4 (B) 3a-b<l (C) 2a+3b<5
D) a>b (E) a>08b6>0

#%a=log,5 b=log,3 > c=log,2 » #iE & E# iR -
(A) a>b (B) b>c (©) a>1 (D) b<1 (E) ¢>0

T ZM%E @ T, A% @R 4ol BT, 8 AT, 00, ThA LB
A 0 B) 1 <€ 2 D) 3 (E) 4

FZL -AZAR HEIAMXRSAXER ) ATBALFHEEHBA 135 % BHEABIEF
F 5 4k ol AR b i BE 2

(A) FiEHBEED 1 X

(B) Fi:sEHBEWES 15 %

O "FHBEHBENEI, R EAN T FHEHBEf B8 HB R

m)W\L\%ﬁ$3i%%$%é§

en L
(B)F 3 LumES—

(3, EMEROKE L —EE » FiEH EAEEE -
AOAE=%mA (B)180°<H<270° mnmﬁbé (mmME% (B)Es B3, 4) e Oty b -

SR PEEA-EFH BT EF SN ERHELS MEF U AR EAR G E BT

2 2 3 3
M)g @%?- @)E (m—3 (E) 0

Cioifdwmyd  VYARBEZHHMRE | OB 02E AASEAnBERTAEALT  —BANRE
FETHE LR BRRBAR 100 Ebiad > HE N EEEIE o

A) $AEEH 150 % B) 18300 % (©)2 B #4400 &
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ML REARR 110 22 SHE B E 40 0 EMP L A £ NS KILBHRA

R (—) 30 MM R MRE S IR 30 E > HM2 A 3605 -
(=) AEEERLS > BHETH -
(Z) HMERSRA 2B RBERLASEEN - EETE

EBBRNEAEVERRER BAATOOmmHg - S FERGERBRY AR —BEFRETRA

1370mmHg - B4 sbilk B 8% » /K ey dafo 4 £F A% F mmHg ?

(A) 760 (B) 600 (C) 50 (D) 30
CEERRBETASHANRATREEARNERMEYA IOLAENAES  £2TCTAEES A A EA3O

atm &) NHs) $2 1.0atm 84 HCl) - sTH A EZ » BHEBREG2TCHZIE 127C - EEES AR 24544
BIELR A o AT A R T 19— A (atm) 7

(A) 1.33 (B) 2.67 (C) 3.00 (D) 4.00
ECRRBRTHRTAAS RRE#T X0 P£A SBEETF > AILEETY X AfM0 VP THAES D ?
(A)60 (B)32 (©)16 (D)8
NTARETFHEBRETFARL  EEHE?
(A) 12Mg?":15%2522p%35? (B) 30Zn*":[Ne]3d34s?
(C) 20Cu?*": 15225*2p®3s?3p®3d° (D) 17C1™; 15225%2p%3523p°4s!
- M = AR (8i02) ~ = RALE(CO) M 4% B A8 B #k » TIR EAE ?

(A8 s P eha BT -~ —RALBE PR R T » AR U sp R AR T4

B) At wmwRF  —RIbR THHET  HRREEARR THE
CaNSiauEmCaERE RELEHSIOHEEY CO ML AEBERTERSE
D)—aiLw & P s A IR Ry TP a5t A

L TFIwA gy FREET P M-y SR RAA M ?

(A) NO;™ > BeF, (B) CO; » HCN (C) NH; » BFs (D) COs% » SOs*

. F3IA B FEE@C) R BAL S W& 4t - T8 B2k 7

ASBHRAREETFHRLEY dRBEHLBERRENETF

(B)#% 0.1 M ~ 5mL &) 48 BE47KIEMR > A SH ~ I M 8 NaOHpgy » BRBETH T ERAHKE
(C)K2CrOs ¥ » Cr 8 B ALE B2

(D)K2CrOn(aq) T & B R B 82 ¥ B A2 R JE

O AR AR BERSE T Tatm > BEBA3TC - THAMABEERGSGE  AH48°

(A)BE/ERBITEH Ko T2 e¢h 2 ERANERBEF EFBENSERDHERTP
B)Am EHIELHHBKERE ) HHBEERTAHA030M

(C)5 A3k 64 4z fa 3N 0.20 M NaCliag) B » 4 S0 3K & 8k 45

(D)R|"Aa 8 » d iRt P34 B E R g% A% 7.7 atm

CEBT REEXERET Mot BRETRAA 2.0M - £ RLETEE - BIBAKERF[X]=050M -

RIMXo 98B E R 50 7

(A) 40.0% (B) 25.0% (O)12.59% (D) 8.0%
TFTITERAARRRE?

(A)2CrO4* (aq) + 2H" (ag) — Cr207*(ag) + H20(y (B)Clag) + Ca(OH)zsy— Ca(OC)Clsy+ H20()
(C) AgNO3(ag) + NaCl(ag) — AgCls) + NaNOsg)  (DYHCI (ag)+ NaOHag) — NaClag) + H2Oq)
TH4HE IERAE T TRIAR?

(A) HF(p (B)CH3;COOH(y, (C)H20q) (D)CH30OCH3(g)

#1R#47R



12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

23.

24.

25.

RIFEA-E BRI L RGBRED > TR BREALEGAEE RN ?
(A) HC1 + HCOs;~ 5 H2COs3+ CI- (B) H2C204 + CN™ 5 HC204 + HCN
(C) CH3COOH + HSO4~ S CH3COO™ + H,S04 (D) HF + OH™ S F~ + H.0
TR By T REBETFHBHHEBRARAFASABEMRI 7
(A)NO; (B)SO;2~ (C)CO; (D)PCl;
—FEHEBFAA-B-C=@EAK > 25 ENTARL0 #/k+0.1mol L% (4FE60)- B 500 #,
AK+585 FRB(KXES585)~CH300 s,k - & keFMERPFHEL BHAKKELS VE?
(A) 350 (B) 600 (C) 700 (D) 800
ERHWRREN A 010 M K5k
(F)NHsClag (Z)CH3COONawg  (A)CH3COONH4aq (T )NH4HSOugag)
B KERG pPH A S ERRAHS] > THTHEREHEOPTEE?

(NH4" 8§ Ka=5.7x 107 ; CH3COO™ #) Ky =5.7 x 107° ; HSO4 8 Ka= 1.3 x 1072)

AFZAT B)ARZTYF OCTARFT D)TFTHA
SBRFHRET > FAACRERBOEL  ATAABREERSHEL  ARLAS D ?
(A)3:1 (B)1:3 (C) 4:1 (D) 27:5

AmAE— 58 HX - HY (A#sFE a3k A4 K- Ko G4 HX g9k M8 HY 3% 0 2] F 540t f7 %
E#E?

(A) K2>Ki (B)# B E FI M ¥ FRAE 8 HXwp$t HY e » A ER T8y [H' 48 %

OB E - Y—>X" DFERE - BEH#HETRE M HXe)# HY @ * & Kv HX@q 8 HY @k

R P& 4HBrg) + O — 2H2O0@) + 2Brag ' HAERE T I00L 9 E K P » 81 548€45 HBr % 8§ L H%
B2EH > RALESE Bl Fh4LmikEA %D Mis?

(A)5%x10 (B) 3x10* (C) 1x1073 (D) 6x10°2

25°C ~latm Y& B H AKX IEME A 1.5x 103 mol/L » B 25°Ce¥ » 1 atm ® R ¥ KEFMA T4 > 2 Fhk P
RETERBAANS IR ?7(BRARNIEERM 1/5)

(A) 4.8 x 102 (B) 1.9 x 1072 (C)9.6 x 1073 (D) 4.8 x 1073

R AHRATEME 3 EZHEEAENE~E)KRA 578 ~ 1820 ~ 2745 ~ 11580 ~ 14830 kJ/mol » 8] IA T 4
B st L E e R AT 84 3R ¥

ABEFIBEITFHLETE (B)£ 1ty BT 44

(O H a1eth et £ X A M;0; (D) & S 7T /57 55 B b, 7T IE 7 38 i

(F)RX (L)Zw (MAEE (THTH (RTHE > R MY eR-5 s > b Am BT o 78 EE?
ARTFARLT BARFTAHT OTAEF TR DARTAFCT

T =5 F4E:FH(CHs) » 2(NH3) ~ K(H20) » £ R-FRI&SEA R Z by B ?

(A) H,0 > NH3 > CHs4 (B) CH4> H,0 > NH3

(C) NH3> H20 > CH4 (D) CHs> NH3> H,0

T 3R BBk o R 4 R SRR - FTIRIEAE Y

(A)Btr @b KIERT ZE & B e F A hEA BB, FoRRemamAREH

(C)FHy LA BR K AR T 13 8 B4 (D)W & T B F 5 &b

R—3 C-H-O AxAMME 740 &> ENGAFTRATSME » RILEHARBS B KE RS
ZRBE  BEJAMREE  SRBAMSERUETEFTHW 540 L > BAILARKE EEH 0 13.20
%0 Alsb koo TER K AT ?

(A) C2HeOs (B) CsHeO2 (C) C3H202 (D) C2H40s
THMmE B SIRLBE R AHERY
(A)MgO>NaCl  (B) NaF >KI (C) Si0>CO, D -FE > H-F%
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28.
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31.

32.

33.

EE M E BB RHALES(CaCy) » s L85 B K G 4 iR T H(CoHo)Ao B AALES - S BR— T B HLFokKRIE
HEE AN BEAESKRER > A 1.OM BHEAZERRBL > 1Fo0 L RAMRETFHETE A 0.04mol - 3
Bl wELH S RFHTIHASTP(0C ~ latm) FTeyHBREA S L EH 2(RFE:C=12>H=1.0)
(A)448 (B)896 (C)0.448 (D)0.896

THHR— AR R FEBERFEE) RS ?

(A)# # CoHs * HC=CH(g+Hag) — H2C=CHyy

(B)# # O2 : 2KClO3s) — 2KCls)+ 302

(C)# 4 CO; : CaCOs) — CaOys)+ COxg

(D) & # N2 : NaNOxs) + NH4Clis) — Nagg+ NaCls)+2H20y,)

i TH ekt T 2REREM

In* g +2¢ —Zns E°=-0.76V  Fe* ggt2e — Fes) E°=-0.44V

Cu? g+ 2¢” —> Cusy E°=034V Agtug+e —Ags E°=080V

FIRT EREREMAHIOMOERLT  KTHSERNASRREEETLES LT Tiady
EmERKR?

(A) Cu—Cu?* $#2 Fe—Fe?* (B)Ag—Ag" #1 Cu—Cu?*
(C) Zn—Zn*" $2 Cu—Cu?* (D) Zn—Zn*" 81 Ag—Ag"

B4 AgCl 2 Kop=1.0x1071"+ Ag,CrOs z Kop=1.0x10"" ¢ 4 [CI"]=[CrO22 ]=0.1M z &4 50 mL
P H AR AgNOs mR (BREBA RS ) T4 Essk ?

(A) % — & LBk B 8 4 &, B)E[Ag TAR 1L.OX1075M t 8k » &5 4 B MR
(C)% —#& JLB M A 0% > [CrO2 1=0.01 M  (D)CrOs2 Bi4& i % » [C1 ]=0.05M -

Ap+3Be —> 2Dp REMHRFZHEXA r=k[A]P[B] - ARBATEBEFH 3molA - 1molB > & REH
AR B REREAR - ZAREA AN 4mol B BRI B EHMAB ARG AR EREE S
Ry’ B|Ri/Ro &% ) ?

(A) 9/7 (B)8/5 (C)3/5 (D)1/5

S EREA () X110 MRAFIMERIOM > HMA5 0 #H 05 -

(=) BERSPERELSBBIETESH | EAERARLEHY » HA% RE)Fo - SEREFELF
LBHFZHALR - A 1 BAERTHA - FIE S 2BR2BALERLALS -
(Z) HHERBSEU2BHEENEEERN -

EFTRETRT B THMARSABBAR 2T EEAZNOABARTENS R > REG 5 B0 ?
(A)O,~ N2 (B)He - O; (C)Ha ~ F (D) O, ~ NO (E) CH4 ~ Oz
— AR P B A 40°C ~ IM &Y NasSOsaq) 100 mL » B LA F A Rl 2b i8R 64 40 AR &b FE 2% ?
(A)stia& =T & IM &9 50 mL NaOHgag)Aw 1M &) 50 mL H2SO4(aq)iR A T 45
(B)iz ik ¥ & TR ¢4 M 14 A[H1+[Na*]=[OH ]+2[SO4 ]
(Cysm b IrdkFER THEN S B FER TR
(D) RALBAKBERIZRAN > FAL S E LK
(B)sbiE ik 8 Ko=1x10""14
EERT U DA BMNE A AR EREERA RERXA
NaNOasy+ NH4Cliy—=—> Nag) + NaClisy + 2H20¢)
EHRGBHETENEIAY AL RICERE MAILEEKXRE €4 RELERAR > TEEHE
G RREGE  b— 27O REAKRBRIAN T X - AL LRERS A48 M4 > R ERE 7
(A)ErjEg4n+ N R F2 848 A+3 B)RIté B & B8 - HLE KB MeNs
OB s SRABRRATHELEALE DALY ZE M RAN A ARILE
(BE)iR fE B 6 BE1R » 3 H A R 154 E
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37.

38.

39.

40.

TELFROREE RAKBRAIRIBOBRETE > BNEMMPETEM > T 548 B 4L FR ok E 22
(BRFE AI=27; 1 28 % =96500 &)

AR LT Zma 0 HILE KT ALOs

(B) st % 48 7% & LUK & 5 NasAlF 4 A ks #)

(OB R EMIT 27 S 4hss > B E BEA 289500 BA W EE

(D)sa 8 £ Ao N T6 e £ 2T 4 5k, Fe(OH)3aq) * 2387814 7T & 313 ) 4 ALLOs

(B)ALO; 8 TG TR > ¢ AGRITE 48

F AL BB o B 7

(A)TE ~ TER B)m X ~ % O#za#E- -3E OFFHEEBE EL2-—FX-TXK
T 54 G ARL T A EF 9

(A) Fegs) (B) NH4Cls) (C) HCl (D) NaClg, (E) K2SO4(aq)
AMBEHRBERENDE » T 24 LA L EE ?

A)BEAEG BRARBEKHREYRERFHER

(BYRE & » TSR FEAE 5 dh 4R 0 {2 AT BAKIR AL 695k F B3 Ao

O)REF S » THERE IR A B

DYREFH > 4 FEHRFYR > BREEERES  LARERESRNIERE
E)EREREAOE LT B REMGEE  TUEREREFTHOEX

T 3 AL B 6 4t > AR E AR Y

(Ao ANfEALE] » T % RIERE » BIRFILEE

(B)f 1L B 42 T 1¢ £ R & iR £ 3% Ao

(OBALE T AR SR TS, T iR > R BRFE N

(D) M Bl AL BB LR E R E4h 4 %o 0% > RBER RS E B ILB 6948 % B F M
E)RmBILEA—BECRFEHARBELAAN > R mERBRE &4 IR

€40 L8 CHsOH » =it COxg ~ & HaOp #9173 F A kA £ —278 1 » —394LJ &
—286 kJ » BIF 748 B 48 4T & ERE ?
(A)‘ﬁ‘;‘;t'ﬁ:ﬁﬁ CszoH(l)?a/i\J:g}‘;;J{)%%‘;ﬁ%% 3 mol éﬁiﬁ.

B) e B2 AZEE H Mg A 394K)

O AR ZAZE L TG 225 —286k]
(D)2 & CoHsOH()z A% 3 F 0k kg #h A — 1368 kJ

| 1
(B)% 5 Nap+5 O —NOg AH=90.3LkJ * A Nopty ¥ F 1 3 2 180.6kJ

1 latm T ZHR 10 ey X BTk > SR HEE  mre )
B8 Wl ko A5 18 A7 T 0 35 A3 A BORE S4E R4 SO keal 9B 100 - ——

B 0 BRI 6 B B R+ R T A o

EFE? 70

(A)SLEI 8 b2 A S callgC i

(B)sb#y K 09 X Fas AL Bo 73 H o) 3 AL B 4 |

(OB 4 48~12 H 58003802 %+ 3540 8 @ 8 634 Ao N

(D)5 1T 12 5045~18 Srabm gt » R eom B mfE 10, ENEERE | |

(E)sbth & 9 EF 52 % 60°C 01234567891011121314151617181920
IRFE (71)
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EHEREHMERKIN0LEEEHEER A NIERL LA ANSE AT AREH A

F-BEMI(—)30B ARAFIREL3I0A FH2 5 03604 -
(=) %MZEFRL5 » BeERE40 o

(Z) FHEEZRUA 2B SERENEEFTA - BEEER
. % —2msxsdn> E#hy= ek y-cosx W B H HIBL I 7 )
A ‘1
(A)1 B)2 ©)3 (D)4 - )
2. WwAEBMAT MAKL LZFRXSHNAL ax—y+b=0,L:cx—y+d=0 >
%9 abe,d BT RS EA Y EH - — -
(A)b>0 (B) ¢<0 (C) c>a (D) d>b - /
3. Choab BT Flax+l<beymgly3<x<5> B ¥ (a,b) BT ? /
A 1,-49 B) 1,4 (©) (-14) D) -1,-4) -
Tx+3y=10
4. HBEEME 75‘7??_.?&{ T U k& BT AT 2
5x—3y=2
(A)— 2k B)Ria X A& O FANxz FEHER D)F/Treg AR -

5 ¥R B S EFAERS Ak ER  RARATERS AagRAREANKR > LF 4 A2 HEIRA L A
Rléa 7y ik R % AE 7

(A) 250 (B) 350 (C) 700 (D) 1400 -
6. W f(x)=x —4x*—72x° — 5622 + 15x + 8 » 8] f(11)Z A& &4 2
(A) 43 (B) 52 (C) 60 (D) 63 -

3
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Isabella doesn’t like to discuss her personal problems publicly; she prefers to talk about them
(A) privately (B) effectively (C) universally (D) generously
German power was restricted after World War I1. The entire army was restricted to just 100,000 men, and

the navy was reduced to just 15,000 men.

(A) royal (B) industry (C) military (D) distant

The young couple, unable to bear children, choseto  a child to expand their family.

(A) sprain (B) elbow (C) adopt (D) dodge

Singing a while rocking a baby to sleep can help early language development.

(A) helmet (B) lullaby (C) medium (D) property

Once someone is suspected to be infected with coronavirus, he or she has to be kept in , So that others

won’t be infected.

(A) intonation (B) construction (C) emphasis (D) isolation

There are some easy ways to water. For example, we can turn off the water while we are shaving or
brushing our teeth.

(A) grease (B) conserve (C) mutter (D) vibrate

diseases, such as the flu or colds, spread from person to person in several ways.

(A) Contagious (B) Adolescent (C) Transparent (D) Marginal

Michigan Stadium has a seating of 107,601. It is the second largest stadium in the world and the largest in
the United States.

(A) digestion (B) fragrance (C) invention (D) capacity

Some people that spiders are insects. But in fact, they are relatives of insects.

(A) assume (B) assign (C) devise (D) differ
A3E (R I0BEEE 158 £124)

We have to the connection between these two events in order to solve the problems they have caused.
(A) figure out (B) take place (C) wear out (D) make believe

Many truck drivers aren't aware that driving while they are could also have disastrous consequences.

Therefore, while feeling sick, they should avoid driving.

(A) out of the blue (B) pie in the sky (C) under the weather (D) few and far between
Much of Ethan’s house had already been destroyed before the firemen finally the fire.
(A) put off (B) put out (C) passed down (D) passed away
When Sebastian fainted, we quickly laid him down on his back. Fortunately he before we called 911.
(A) broke in (B) showed off (C) crossed out (D) came around
I know this discussion is an uncomfortable one, but please don’t . Let's come straight to the point and get
over with it.
(A) face the music (B) beat about the bush (C) make ends meet (D) give it your best shot
This is a well-reviewed series of lessons for beginners as well as for those who wantto _ their French.
(A) find fault with (B) lose track of (C) come up with (D) brush up on
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25.

V.

ik (F 16 AF 2028 > £ 10 %)

I to enjoy playing basketball, but I don’t have time for it now.

(A) used (B) am used (C) was used (D) got used
Yellowstone National Park was the first national park in the U.S. It in 1872.

(A) established (B) had established (C) was established (D) has been established
Samuel was late again. He up earlier this morning, but he didn’t.

(A) got (B) had gotten (C) should get (D) should have gotten
A heat wave hit Southwestern Asia in late July and early August 2011, with temperatures in Iraq

exceeding 49 °C.

(A) record-breaking (B) record-broken (C) breaking record (D) broken record
Dyscalculia is a learning difficulty that impacts students’ ability to do math. Children with dyscalculia usually
have difficulty  numbers, symbols, and related concepts.

(A) understand (B) understanding (C) to understand (D) to understanding

AR (F21BEF 258 #10%)

Did Penelope tell you ~ ?

(A) which bus did she take (B) when was she going to leave

(C) what had caused the problem (D) who had she invited to the party

Leo decided to get divorced,

(A) that was unavoidable (B) which upset his parents deeply

(C) its impact on his children was huge (D) what would change his life completely
, Owen stormed out of the room and banged the door behind him.

(A) Filled with anger (B) To fly into a rage

(C) It was anger that built up (D) The fury that burned inside him

Hemingway's inspiration for the book, The Old Man And The Sea, was the Cuban fisherman Gregorio
Fuentes, who was also Hemingway's friend.
(A) Traced the history, (B) It was said that
(C) Information on the origin, (D) The indication that
, he was killed together with his whole army.
(A) Never had the king surrendered
(B) The king, trapped by the enemy
(C) How fearlessly the king faced the enemy
(D) Bravely as the king fought against the enemy

RlsRls (F 262 H 3048 %104 )

Researchers have been working to make mind-controlled prosthetics a reality for at least a decade. In theory, an

artificial hand that amputees could control with their mind could restore their ability to carry out all sorts of daily
tasks, and dramatically improve their standard of living.

However, until now scientists have faced a major barrier: they haven’t been able to access nerve signals that are

strong or stable enough to send to the bionic limb. Although it’s possible to get this sort of signal using a
brain-machine interface, the procedure to implant one is invasive and costly. And the nerve signals carried by the
peripheral nerves that fan out from the brain and spinal cord are too small.

A new implant gets around this problem by using machine learning to amplify these signals. A study, published

in Science Translational Medicine today, found that it worked for four amputees for almost a year. It gave them fine
control of their prosthetic hands and let them pick up miniature play bricks, grasp items like soda cans, and play the
Rock-Paper-Scissors game.

F2RH4AR



It’s the first time researchers have recorded millivolt signals from a nerve—far stronger than any previous study.

The strength of this signal allowed the researchers to train algorithms to translate them into movements. “The first
time we switched it on, it worked immediately,” says Paul Cederna, a biomechanics professor at the University of
Michigan, who co-led the study. “There was no gap between thought and movement.”
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What is this passage mainly about?

(A) Amputee resources. (B) Medical implant design.

(C) Advanced artificial hands. (D) The brain-machine interface.
Which of the following will most likely benefit from the research mentioned in the passage?
(A) A born blind teenager. (B) A deaf old man.

(C) A patient who lost his sight because of diabetes. (D) A man who lost his hand because of an accident.
All the following words can be used interchangeably in the passage_except for

(A) prosthetic. (B) peripheral. (C) bionic. (D) artificial.
According to the passage, which of the following is true?

(A) Mind-controlled bionic limbs have been used for at least 50 years.

(B) Patients with a mind-controlled prosthesis have to carry a mainframe computer with them.
(C) A new implant using machine learning can give amputees control over their prosthetic hands.

(D) The artificial hand using the brain-machine interface involves no surgery, and therefore is very cheap.
The paragraph following the passage most likely discusses

(A) how a mind-controlled prosthesis works.
(B) why amputees want to protest prosthetics.
(C) whether the brain-machine interface will change the way we live.

(D) the possibility that robots can carry out all sorts of daily tasks in the near future.

PERFM () X104  BEARIMERL 40> HFH45 3405 -
(=) BASEBRRALEB/IAPES A 1 BRBEREHY > HEE R4 0 5 EERALY
FHAZRLN ¥ RS 1 EAEATRA - Fo¥ S 28X 2ERLERARLS -
(Z) FHEHRBSEANBH/ENONERERN -

The heavy fog a car accident this morning. In fact, fog is the major cause of auto accidents in many
countries.

(A) led to (B) resulted in (C) arose from (D) brought about (E) gave rise to

The beautiful lady next to Samuel is my new English teacher.

(A) has a seat (B) is sitting (C) sitting (D) who is sitting (E) that are sitting

My uncle is very quarrelsome. He will argue with  disagrees with him.

(A) whom (B) whoever (C) whomever (D) anyone who (E) anyone whom

I like my community; everyone in my neighborhood seems

(A) very nice (B) being nice (C) to be nice (D) to being nice (E) like a nice person
Bill Gates, one of the most renowned and respected billionaires worldwide, has donated ~~ of money to Bill

and Melinda Gates Foundation to reduce global poverty.
(A) lots (B) large quantities (C) huge amounts (D) a large number (E) a good deal
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HENMBEEAM ST Lam LT XE NS EL A E1E -

(A) Liam took six hours draw the portrait of his girifriend.

(B) Liam drew the portrait of his girlfriend spent six hours.

(C) It spent Liam six hours drew the portrait of his girlfriend.

(D) Liam spent six hours drawing the portrait of his girlfriend.

(E) It took Liam six hours to draw the portrait of his girlfriend.

HR NGRS E F James R A TAEBBER -

(A) James is unlikely to pass the exam.

(B) Pass the exam is unlikely for James.

(C) James will pass the exam is unlikely.

(D) It is unlikely that James will pass the exam.

(E) James is unlikely that he will pass the exam.

FELEFEAG G T Joshva REPRMA-—REEZR  RuETEHEME -
(A) Joshua went to the movie theater with us instead of going to the library.

(B) Joshua went to the library instead of going to the movie theater with us.

(C) Joshua went to the library. Instead, he went to the movie theater with us.
(D) Joshua didn’t go to the movie theater with us instead of going to the library.
(E) Joshua didn’t go to the movie theater with us. Instead, he went to the library.
FHEHEIF LAY o) T8 % Sophia FHAL > 24bAn K& L3t -

(A) Though in poor health, Sophia still went to work.

(B) Sophia still went to work, even she was in poor health.

(C) Sophia still went to work in spite she was in poor health.

(D) Although Sophia was in poor health, she still went to work.

(E) Despite the fact that Sophia was in poor health, she still went to work.
WHEREEEAL S T BES L BE 21 R AGEMABEARELE -
(A) Shakespeare didn’t begin his career in London until he was 21.

(B) Not until Shakespeare was 21 did he begin his career in London.

(C) Not until Shakespeare was 21 that he began his career in London.

(D) It was not until Shakespeare was 21 did he begin his career in London.

(E) It was not until Shakespeare was 21 that he began his career in London.
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